ST19B

\KY 200
\,ﬁ J
20 i« -
H"'-\.
.
15 e
“-R_H\:xh
-
o
sty

4y,




ST19B
(Rt - BT 55 5)




No. -+ % L7 G w &
1 20067-21051 L—ILSEfEL 1

2 20067-21061 L—ILEFER 1

3 20067-41040 WX EREN S ¥ I h 1 ¢ 11.95x% 448
4 20066-41030 wEgT—)— vk 2/ p10x 340
5 03511-00040 VAJLE 2 A-40

6 03511-00058 VAJLE 2 A-58

7 20000-31010 p60VI—1)— 4 8F P12
8 20000-31040 p60VS—1)— 4 R D10

9 20000-42590 L—ILR by S—RILE 4

10 20066-41010 INAT 3

11 | 20018-31040 HEERXT— 1

12 20033-41020 <) 1L F v RM6) 4

13 20066-41110 AR 4

14 | 20005-411 FAILARTY Y 1010x13 B2
15 | 20021-41117 FA4ILL REZ(B) 412%15

16 | 20018-41100 ERRAT—EE 2

17 | 00992-40130 FESANJLCL-10 1

18 | 20013-41111 EHO—>—S v Ik 1

19 | 20117-31080 Rl 2

20 | 20066-31011 FY—FE—hIL 125W 1/180
21 20035-41460 avTFoY 16 uF

22 | 00980-43920 AFTYTRAYTF 1

23 | 2003046120 JLFxvyT 1

24 | 20208-48411 a—kJwia 1

25 | 00980-42990 ZEiFE 21— K (KDH) 1

26 | 20033-41400 a—KkH507 1

27 | 20000-42850 W74k (15T) 1

28 | 03000-41042 A—>—FI—r 1 #410 42L
29 | 20117-32290 WET—1)— 1

30 = 03000-41038 A—>—FzI—r 1 #410 38L
31 20000-41890 2704y 19T) 1/#410 BiE P 12
32 | 20000-41060 2704 yk(12T) 2 #410 BHE 6 10
33 | 20048-41140 T+—0% 5% 2

34 | 20011-42013 ARJLZF 4

35 | 20005419 FLEE 5 T4.0

36  20067-21010 At 1

37 = 20067-41020 TR 2

38 | 20067-41050 I LR 2

39 | 20067-31110 E—43—H/\—B 1

40 | 20067-21070 Y/ N—RAKB(L) 1

No. -+ % L 1B i
41 20067-11021 Ry /R—R A2 KB(R) 1

42 | 20067-31120 B LO0—>—5#B 2

43 | 20067-41010 REEE 2

44 20000-43340 SAETARILE (M6 % 40) 2 M6 X 40
45  20133-41220 Oy vk 2 M6
46 20067-31070 Ty A—5EkE 1

47 = 20067-41030 X5 2

48 | 20041-41700 At (5) 2

49 | 20067-31090 FI—2HhN— 1

50 @ 20013-41112 wEO—>— 2

51 | 20048-31820 EERTS5(140 1

52 | 20035-41090 AR—H— 1

53 | 20050-41270 2704y 60T) 1

54 | 20035-41010 27y A1T) 1

55 | 03003-25112 A—>—Fz—> 1#25 112L
56 = 20050-41450 53R/ 2

57 = 20035-41060 ESFvvF(¢9) 1

58 | 20038-41060 X +E(M6) 2 L=25
59 | 20035-41160 X 1 L=30
60  20067-31030 TS5 7 —LSN— 1

61 = 20067-31130 753 7—L4B(L) 1

62 = 20067-31140 753 7—L1LB(R) 1

63 = 20067-31151 AYLwviN—B 1

64 = 20000-41500 RE> 1

65 = 20067-32020 BIHKSA)JL(ST19B) 1

66 = 20067-42030 ikERBAE 1

67 = 00980-41690 A2a0v9454 1

68 = 20000-43350 SR &AL (M6 X 60) 2 M6 X 60
69 = 20035-41350 AR—H— 1725
70

71

72

73

74

75

76

77

78

79

80




No.

1-F

b1

[k

]

240

241

242

243

244

245

246

247

248

249

250

251

252

253

254

255

256

257

258

259

260

261

262

263

264

265

266

267

268

269

270

27

272

273

274

275

276

No. -+ % L 1B fis
200  20000-41780 INRERIARBARILE 39 M6 x 12
201  20041-31200-A = &SRR 4 M8 x 46
202 01000-11045 NARILE 1 M10 X 45
203 01010-10612 NATSIRILE 1 M6Xx12
204 01110-00412 FTFIUFFARNI©RD 1/M4 %12
205  01114-00612 FTFRG SRR D 1/M6x 12
206 | 01200-00403 NATFTYk 1 M4

207 | 01200-00504 NATFTYk 4 M5

208 | 01200-00605 NAFTYk 2 M6

209 | 01220-01007 NATVE 2 M10(=5&)
210 | 01250-00606 EEftTvk 28 M6

211 | 01400-00513 INRHH R 4/ M5

212 | 01420-01016 ESHH* 8 M10
213 | 01420-01223 ESHH 6 M12
214 | 01421-00508 ESYHR 8 M5

215 01500-03020 2 11 $3x20
216 = 01500-03025 2 [ 12 $3%x25
217

218

219

220

221

222

223

224

225

226

227

228

229

230

231

232

233

234

235

236

237

238

277

239

278

279




